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Symbol Nr nici KrzyŜyki Motki Motki Motki
2 nitki 3 nitki 6 nitek

 Ariadna (nowa) 1500 2138 1 2 3

 Ariadna (nowa) 1503 429 1 1 1

 Ariadna (nowa) 1509 42 1 1 1

 Ariadna (nowa) 1525 870 1 1 2

 Ariadna (nowa) 1526 501 1 1 1

 Ariadna (nowa) 1568 149 1 1 1

 Ariadna (nowa) 1599 55 1 1 1

 Ariadna (nowa) 1604 78 1 1 1

 Ariadna (nowa) 1608 57 1 1 1

 Ariadna (nowa) 1654 191 1 1 1

 Ariadna (nowa) 1655 179 1 1 1

 Ariadna (nowa) 1739 58 1 1 1

 Ariadna (nowa) 1778 85 1 1 1

 Ariadna (nowa) 1818 856 1 1 2
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